

РЕШЕНИ ЗАДАЦИ ЗА ВЕШБУ

ОЈАКОВЕ СМЕНЕ И БИНОМИ ДИФЕРЕНЦИЈАЛ

$$1. \text{ (КОЛ.) } \int \frac{dx}{x-1 + \sqrt{x^2-x+1}} = I$$

$$I \text{ намери } \sqrt{x^2-x+1} = t-x \quad |^2$$

$$x^2-x+1 = t^2-2tx+x^2$$

$$x(2t-1) = t^2-1 \quad \Rightarrow x = \frac{t^2-1}{2t-1}$$

$$dx = \frac{2t(2t-1) - (t^2-1) \cdot 2}{(2t-1)^2} dt = \frac{2t^2-2t+2}{(2t-1)^2} dt$$

$$I = \int \frac{2(t^2-t+1)dt}{(2t-1)^2} = \int \frac{2(t^2-t+1)dt}{(t-1)(2t-1)^2} = \int \left(\frac{A}{t-1} + \frac{B}{2t-1} + \frac{C}{(2t-1)^2} \right) dt$$

$$II \text{ намери } \sqrt{x^2-x+1} = tx+1 \quad |^2$$

$$x^2-x+1 = t^2x^2+2tx+1$$

$$x-1 = t^2x+2t$$

$$x(1-t^2) = 2t+1 \quad \Rightarrow x = \frac{2t+1}{1-t^2}$$

$$dx = \frac{2(1-t^2) - (2t+1) \cdot (-2t)}{(1-t^2)^2} dt = \frac{2t^2+2t+2}{(1-t^2)^2} dt$$

$$I = \int \frac{2(t^2+t+1)}{(1-t^2)^2} dt = \int \frac{2(t^2+t+1)}{(1-t^2)^2} dt =$$

$$\frac{2t^2+1}{1-t^2} + t \cdot \frac{2t+1}{1-t^2}$$

$$= \int \frac{2(t^2+t+1)}{(1-t^2)(2t^2+3t+1)} dt = \int \frac{2(t^2+t+1)}{(1-t)(1+t)^2(2t+1)} dt$$

$$= \int \left(\frac{A}{1-t} + \frac{B}{1+t} + \frac{C}{(1+t)^2} + \frac{D}{2t+1} \right) dt = \dots$$

$$2. \int \frac{dx}{x^2 \cdot \sqrt[3]{(1+x^3)^5}} = \int x^{-2} \cdot (1+x^3)^{-\frac{5}{3}} dx$$

$$u = -2, u = 3, p = -\frac{5}{3}$$

$$\frac{u+1}{u} = -\frac{1}{3} \notin \mathbb{Z}, \text{ and } \frac{u+1}{u} + p = -2 \in \mathbb{Z}, \text{ NA DE CMEVA}$$

$$\frac{1}{x^3} + 1 = t^3 \Rightarrow x^{-3} = t^3 - 1$$

$$x = (t^3 - 1)^{-1/3}$$

$$dx = -\frac{1}{3} (t^3 - 1)^{-4/3} \cdot 3t^2 dt$$

$$I = - \int (t^3 - 1)^{2/3} \left(1 + \frac{1}{t^3 - 1}\right)^{-5/3} \cdot t^2 \cdot (t^3 - 1)^{-4/3} dt =$$

$$= - \int t^2 \cdot (t^3 - 1)^{-2/3} \cdot \left(\frac{t^3}{t^3 - 1}\right)^{-5/3} dt = \int t^2 \cdot (t^3 - 1)^{-2/3} \cdot t^{-5} \cdot (t^3 - 1)^{5/3} dt$$

$$= \int \frac{t^3 - 1}{t^3} dt = \int (1 - t^{-3}) dt = t + \frac{t^{-2}}{2} + C$$

$t = \left(\frac{1}{x^3} + 1\right)^{1/3}$

$$3. \int \sqrt{\frac{x}{1-x\sqrt{x}}} dx = \int x^{1/2} \cdot (1-x^{3/2})^{-1/2} dx$$

$$u = \frac{1}{2}, u = \frac{3}{2}, p = -\frac{1}{2}$$

$$\frac{u+1}{u} = 1 \in \mathbb{Z}, \text{ NA DE CMEVA}$$

$$1 - x^{3/2} = t^2$$

$$x^{3/2} = 1 - t^2 \Rightarrow x = (1 - t^2)^{2/3}, dx = \frac{2}{3} (1 - t^2)^{-1/3} \cdot (-2t) dt$$

$$I = \int (1 - t^2)^{1/3} \cdot (t^2)^{-1/2} \cdot \left(-\frac{4}{3}\right) \cdot t \cdot (1 - t^2)^{-1/3} dt =$$

$$= -\frac{4}{3} t + C = -\frac{4}{3} \sqrt{1 - x\sqrt{x}} + C$$